Véaxjobridgen

Em-bridge 2021-06-16

Partavling, 6 bord, 12 par. Antal brickor: 21. Medel: 105.0.

Plac Par Poang % Namn MID Klubb
1 12 126.5 60.22  Johnny Fransson - Bo Lind 44913 53073 Véaxjobridgen
2 11 124.9 59.45  Gabor Barath - Charlotta J6nsson 916 86566 Vaxjobridgen - Skanninge BK
3 10 123.4 58.75 Loucie Lindborg-Mansson - Eva Engvall 61815 61816 Véaxjobridgen
4 9 112.2 53.44  Par Carlsson - Ingrid Svensson 40020 40035 Véaxjobridgen
5 1 108.6 51.71  Bernt Linnér - Gunnar Nilsson 6812 875 Véaxjobridgen
6 7 107.0 50.96 Olle Rundgvist - Karl-Ingmar Carlsson 872 88108 Vaxjobridgen
7 4 101.8 48.49  Anders Dahl - Ann-Britt Gunnarsson 13441 26110 Vaxjobridgen
8 2 97.9 46.63  Ulla Bonnevier - Cajsa Johnsson 50426 50427 Véaxjobridgen
9 6 97.4 46.38  Leif Thuresson - Kurt Felldin 1550 912 Vaxjobridgen
10 3 95.3 45.38  Toni Sjo - Goran Fransson 82613 86583 Vaxjobridgen
11 5 87.7 41.76  Marianne Johansson - Mia Géransson 82814 79735 Vaxjobridgen
12 8 77.3 36.83  Bengt Bengtsson - Anders Landebring 11264 7082  Vaxjobridgen
1 4 ED107 Basta kontrakt 2 4 E43 Basta kontrakt 3 4 Kn74 Basta kontrakt
Nord v10 44 S =420 Ost vK 4v O D -1 100 Syd v E65 2y V =-110
Ingen ¢ E542 NS +D1083 ov + KD5
#K1082 & ¢ v & NT #DKn1082 & ¢ v & NT #D1053 & ¢ v & NT
465 4 Kn94 N9 4498 4982 & KKn N 106 4 9 6 4E985 4K2 N56566
v E6532 vKD4 S 9 4 4 108 vE10843 v DKn975 S 106 4 9 6 vDKn7 v10932 S5656 6
¢ KDKn1098 +¢6 048835 ¢ EKn95 ¢ 642 037946 ¢E82 1073 086 867
»- #Kn97543 V 4 8 8 3 5 *6 *K95 V36946 #KKn7 #E984 V861877
& K832 4 D10765 4 D1063
v Kn987 v 62 v K84
+73 + K7 + Kn964
#ED6 #E743 *62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 3 34N= +6 140 100 00| 6 3 14 S+3 &6 170 100 00| 7 4 INV= »5 -90 9.0 1.0
2 8 2NN= +5 120 80 20| 4 11 4v V-2 *Q 100 70 30|12 2 INV= &3 -90 9.0 1.0
12 1 4v V-1 aA 50 6.0 40|10 9 4v V-2 s A 100 70 30| 6 8 INV+1l &3 -120 50 5.0
5 7 44 N-1 +6 -50 30 70|12 1 3v0O-1 45 50 40 6.0[11 10 INV+1 &5 -120 50 5.0
10 9 4e4 N-1 +3 -50 30 70| 2 8 3v0O= *A -140 20 80| 5 1 INV+2 &5 -150 20 8.0
4 11 4e¢ V= vT -130 0.0 100| 5 7 3vO+1 #A -170 0.0 100| 3 9 3¢ S4 45 -200 0.0 10.0
4 &« Kn4 Bésta kontrakt 5 & K7 Bésta kontrakt 6 & KDKn72 Bésta kontrakt
Vast v 387 6¢ ND-4-1100 |Nord vE1063 34 N =140 Ost vKD9 54 O D -1 200
Alla + 1087632 NS ¢+ D7654 ov + K973
#875 & ¢ v & NT «D10 & ¢ v & NT &K & ¢ v & NT
410632 4 E95 N18332 464 4 8532 N57 898 s E4 4109863 N 3 9 106 6
v 10 vEKn9532 S 1 8 3 3 2 vKD72 ¢85 S57897 v 765 v2 S 3 9 106 6
¢ED ¢+ Kn O 125 9 1010 498 ¢ EKKn3 086545 ¢+ D84 ¢E2 0103 3 7 7
#EDKNn1062 #K94 V 125 9 1010 #E9732 #Kn85 V86545 #DKn742 #E9863 vV 104 3 7 7
« KD87 4 EDKn109 a5
v KD64 v Kn94 v EKn10843
+ K954 + 102 + Kn1065
*3 *K64 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 2 2vO0O+1 &3 -140 100 00| 7 9 3NS= *2 600 9.0 10| 7 9 4vy S+1 4A 450 10.0 0.0
3 9 3&V+2 T -150 80 20|12 3 3NS= +K 600 90 10| 6 2 4v S= aA 420 70 3.0
6 8 4v 0= oK -620 40 60| 1 11 24 S= vQ 110 6.0 40| 8 5 4vS= aA 420 70 3.0
7 4 4v 0= 3 -620 40 60| 6 2 2¢ N= v8 90 40 6.0|12 3 2y S+1 4A 140 40 6.0
11 10 4v O= 4K -620 40 6.0| 4 10 Pass 20 80| 1 11 540-1 a5 100 20 8.0
5 1 3NV+3 4] -690 0.0 100| 8 5 2¢ N-1 v8 -100 0.0 10.0| 4 10 INS-3 &2 -150 0.0 10.0
7 «KD Bésta kontrakt 8 410943 Bésta kontrakt 9 & Kn1042 Bésta kontrakt
Syd vE72 7v VD-72000 |Vast v K5 34 ND-1-100 Nord v6 5¢ N =400
Alla *4 Ingen ¢ E3 ov + ED876
#EKn107532 & ¢ v & NT #EDKn107 & ¢ v & NT *K82 & ¢ v & NT
485 4Kn106432 N 13105 7 12 & EK7 4D N8 3385 496 4 D8753 N 11114 7 7
v 109653 v KKn84 S 13105 7 12 v 962 vEDKn1087 S 8 3 2 8 5 v10752 vEK9843 S 11114 7 7
¢+ K10853 +9 003651 ¢ DKn954 ¢ 10872 049946 ¢Kn532 ¢4 012754
*K *94 V03651 K4 &52 V49946 #Kn97 &D V12754
4 E97 4 Kn8652 4 EK
vD v43 v DKn
+ EDKn762 + K6 + K109
»D86 #9863 #E106543
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
12 4 7&#N= 4 2140 100 00| 2 1 4v0-1 «9 50 6.0 40|12 5 5#S= vT 400 10.0 0.0
2 1 3NN+3 #4 690 6.0 40| 5 11 4v0O-1 &9 50 6.0 4.0|11 9 4vDO-1 #A 200 8.0 20
7 3 3NN+3 46 690 6.0 40| 7 3 3v0O-1 &3 50 6.0 4010 7 3¢ N= vA 110 6.0 4.0
8 10 3BNN+3 46 690 6.0 40| 8 10 4v0O-1 «9 50 6.0 40| 3 2 3v0O-1 aA 100 40 6.0
9 6 54N+1 ¢9 620 20 80|12 4 4v0O-1 &8 50 60 40| 6 1 3NS-1 49 -50 20 8.0
5 11 3¢ N+1 +8 130 0.0 100| 9 6 4vO= 29 -420 0.0 100| 8 4 4vO= aA -620 0.0 10.0
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10 4 K653 Basta kontrakt 11 4 Kn973 Basta kontrakt 12 48754 Basta kontrakt
Ost v D932 54 O =-650 Syd v D763 34 VD-1100 Vast v92 3NT O =-400
Alla + D106 Ingen +8 NS * K7
*75 & ¢ v & NT #E1092 & ¢ v & NT #KDKn104 & ¢ v & NT
«EKNn7 4D10984 N7 4222 «ED5  4K1086 N5 30944 +E6 # DKn32 N4 3454
vKn854 v EK76 S74222 vKn852 v- S539 44 vED106 vKn4 S53454
¢ KKn93 ¢ 84 O5 8 101110 ¢ EKn9 ¢ KD432 089 486 + D543 +E108 O 8 109 8 9
*K4 *ED vV 5 8 101110 #Kn83 #D754 V89 48€6 #E83 #9652 vV 8 109 8 8
a2 442 4 K109
v10 v EK1094 v K8753
¢ E752 + 10765 + Kn962
#Kn1098632 *K6 »7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
3 2 4v0-1 LN 100 90 10| 7 2 340-3 vA 150 100 00| 9 5 2NV-1 &T 50 9.0 1.0
11 9 44 0-1 &J 100 90 10|11 8 4¢ O-2 vA 100 80 20|12 6 2NV-1 *K 50 9.0 1.0
6 1 44 0= vT -620 40 60|12 6 3NV-1 v3 50 6.0 40|10 1 INV= &K -90 50 5.0
10 7 44 0= vT -620 40 60| 4 3 3¢ 0= a4 -110 40 60|11 8 INV= &K -90 50 5.0
12 5 44 O= vT -620 40 6.0(10 1 INV+1 v6 -120 20 80| 4 3 2NV+1 *K -150 1.0 9.0
8 4 44 0+1 vT -650 00 100 9 5 2NV+1 &3 -150 0.0 100 7 2 2NV+1 &K -150 1.0 9.0
13 & K8742 Basta kontrakt 14 46 Basta kontrakt 15 41072 Basta kontrakt
Nord vKD 54 N =650 Ost vD10643 44 S D -1-100 Syd v D7 44 S D -1-200
Alla ¢ DKn Ingen + K105 NS + K10763
#EK86 & ¢ v & NT #10762 & ¢ v & NT #1053 & ¢ v & NT
«D105 463 N 117 9 117 aE2 «KDKn9874 N 9 4 9 4 4 4« K5 » Kn98 N39 396
vKn432 ¢985 S 117 9 117 vE8 v52 S 94944 v EK98653 v42 S39396
¢ E1095 ¢ K87432 016322 ¢ ED983 ¢ 762 0493909 +5 ¢+ D84 O 103 103 5
*104 *73 V16322 #Kn984 43 V49399 *K42 #DKn987 V 103 103 5
& EKn9 41053 » ED643
vE1076 v KKn97 vKnl0
+6 + Kn4 ¢ EKn92
#DKn952 #EKD5 »E6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 3 44 N+1 &7 650 70 30|12 7 440-1 +K 50 100 00| 9 4 34 S= +5 140 10.0 0.0
10 6 44 N+1 43 650 70 30|11 2 5v N-2 4 A -100 80 20|11 7 5vDV-1 a2 100 8.0 20
11 2 54 N= +9 650 70 3.0 1 9 340+1 &A -170 6.0 40| 1 3 2vV+2 a2 -170 50 5.0
12 7 44 N+1 &7 650 70 3.0 8 3 5vDN-2 &K -300 30 7.0 2 10 2v V+2 4T -170 50 5.0
1 9 3NN+1 ¢5 630 20 80|10 6 5¢DN-2 9 -300 30 7.0|12 8 4v V= T -420 20 8.0
5 4 34S+2 v4 150 0.0 100| 5 4 44 O0+1 A -450 00 100| 6 5 4vyDV+1l 42 -690 0.0 10.0
17 &D Bésta kontrakt 18 & Kn9 Bésta kontrakt 19 4« KD1074 Bésta kontrakt
Nord v KDKn74 24 OD-1100 Ost v 1075 3¢ O =-110 Syd v D52 64 V =-1370
Ingen + K1094 NS + DKn10 ov +32
*E65 & ¢ v & NT #EDKn105 & ¢ v & NT #Kn73 & ¢ v & NT
4K1042 &ES83 N75867 « D75 » K863 N6 4556 4982 ~E6 N12665
vE6 v 9832 S75867 vKn843 vEK S6 4556 vEK73 v4 S126665
¢ ED862 ¢73 057576 48532 ¢ EK94 06 9787 ¢85 ¢ EKn10764 O 12117 7 8
#32 #K1098 V57576 #93 *K84 V69787 #K1092 #ED64 VvV 12117 7 8
4 Kn9765 4 E1042 & Kn53
v 105 v D962 v Kn10986
¢ Kn5 +76 + KD9
#DKn74 *762 #85
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 2y N+2 o7 170 100 00| 7 6 2NO-3 v2 150 100 00| 4 1 3#0= ] -110 10.0 0.0
12 9 2v N= +3 110 80 20|10 5 2NO-2 a2 100 80 20| 2 9 2¢0+43 vJ -150 40 6.0
7 6 INO-2 vT 100 50 50| 1 8 2NO-1 a2 50 6.0 40| 3 5 20 0+3 vJ -150 40 6.0
10 5 2¢ V-2 vK 100 50 50| 3 11 24 N-1 vA -100 40 60| 8 7 3¢ 0+2 43 -150 40 6.0
2 4 29y N-1 *7 -50 20 80|12 9 24 0= v2 -110 20 80|11 6 3¢ O+2 &3 -150 40 6.0
3 11 24 V= vK -110 0.0 100 2 4 2NO= v2 -120 0.0 10.0|12 10 4¢ O+1 vJ -150 40 6.0
20 4 D8643 Bésta kontrakt 21 495 Bésta kontrakt 22 4 ED762 Bésta kontrakt
Vast v8 3v N =140 Nord v ED964 64 OD-51100 |Ost vKn 64 SD-2-300
Alla + K10985 NS 46432 ov +Kn
*54 & ¢ v & NT »86 & ¢ v & NT #K109874 & ¢ v & NT
4972 » EKKn10 N599 77 «D8762 &KKn43 N 8 12115 10 .- « Kn93 N9 12 106
v 765 vE92 S59976 v32 v 10875 S 8 12115 10 vEKD107 v952 S9 12 106
¢ 72 ¢ Kn43 08 3364 ¢1075 +9 051173 ¢ E109654 ¢ 8732 O 4 12103 7
+D8732 #E106 V83364 +D74 #KKn52 V51173 #53 *E62 V 4 12103 7
45 «E10 « K10854
v KDKn1043 v KKn v 8643
+ ED6 + EKDKn8 + KD
#KKn9 «E1093 #DKn
Par Kontr ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
2 9 340-2 ¢ A 200 70 30| 1 7 66 N= «4 1370 100 00| 9 8 44N+l ¥9 450 10.0 0.0
3 5 2vS+3 7 200 70 30| 3 10 3NS+1 42 630 50 50| 1 7 44 S= vA 420 6.0 4.0
8 7 2vS+3 7 200 70 30| 5 2 3NS+1 42 630 50 50| 3 10 44 S= vA 420 6.0 4.0
11 6 3vy S+2 7 200 70 30| 9 8 3NS+1 v3 630 50 50| 4 6 44 N-= v2 420 6.0 4.0
4 1 2vS+2 7 170 10 9.0{12 11 3NS+1 42 630 50 50| 5 2 24N= +8 110 20 8.0
12 10 2v S+2 49 170 1.0 90| 4 6 5¢ N+1 ¢9 620 0.0 10.0|12 11 54 N-2 vA -100 0.0 10.0
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